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QUIZ 9 (BIOL268)                                            SIS ID     

   
1) Joints can be classified structurally as

A) bony.   B) fibrous.   C) cartilaginous.   D) synovial.    E) All of the answers are correct.

2) An immovable joint is a(n)

A) synarthrosis.   B) diarthrosis.   C) amphiarthrosis.   D) syndesmosis.   E) symphysis.

3) A synovial joint is an example of a(n)

A) synarthrosis.   B) amphiarthrosis.    C) diarthrosis.    D) symphysis.     E) syndesmosis.

4) A suture is an example of a(n)

A) synarthrosis.   B) syndesmosis.   C) symphysis.   D) diarthrosis.   E) amphiarthrosis.

5) A freely movable joint is a(n)

A) synarthrosis.   B) diarthrosis.   C) amphiarthrosis.   D) syndesmosis.   E) symphysis.

6) Identify the incorrect pair.

A) synarthrosis; immovable joint          B) amphiarthrosis; slightly movable joint

C) chondrosis; freely moving joint          D) gomphosis; articulation between tooth and bone

E) They are all correct; there is no incorrect pair.

7) Mike falls off his skateboard and sprains his ankle. Which of the following most likely occurs with this type of accident?

A) A bursa is damaged and leaks synovial fluid.

B) A ligament is stretched and collagen fibers in the ligament are damaged.

C) Articulating bones are forced out of position and ligaments are torn.

D) Dislocation of the ankle occurs.                   E) The tibia is broken and must be set in a cast.

8) The joint between the forearm bones and the wrist is a ________ joint.

A) saddle    B) glide    C) hinge    D) condylar    E) pivot

9) Ankle extension is also called

A) dorsiflexion.    B) inversion.     C) eversion.     D) plantar flexion.    E) protraction.

10) A movement away from the midline of the body is called

A) inversion.   B) abduction.    C) adduction.    D) flexion.    E) extension.

BONUS:  Which type of joint is found between the carpal bones?

A) saddle    B) gliding    C) hinge    D) ball-and-socket    E) pivot

